Model No.DHP484 CORDLESS HAMMER DRIVER DRILL

77 >
/ R/\an\h‘//,
7SR (N7 SN

7 <

Dl T
/Q@@\W‘ @)

v







Model No.DHP484 CORDLESS HAMMER DRIVER DRILL

gi:%em e faisn I/C | Qty [New/Old| Sales Purch. Note

001-1 183L79-9 HOUSING SET 1

C10 [263005-3 |mgesisied 6 2

C20 |252126-6 HEX. LOCK NUT M4-7 2

D10 INC. 21
002 8521L.96-7 SNF1Un: DHP484 1
003 266429-2 Tt 3X16 7
004 419041-9  |[AS:Saninm/gu 1
005 650710-5 MHEMA C3JW-4B 1 *
005-1 650006-4 SWITCH TGRK2-1 0] 1
006-1 619406-7 insi 1
007 629225-3 ansi 1
008 620549-0  |18d]& Led 1
009 643874-2 g8 1
010 123738-1 ansSUnng)s 1

C10 [233438-6 |Tediugnui 4 2
011 251497-8 Tty 3X20 4
012 251468-5 |TrumpunuU M6X22 1
013 |766027-7 | TLVSUIHMSINWES 1

OIS Sw 13

014-2  [126729-1  |eonfm

1
014-3 [127499-5 |GEAR ASSEMBLY < 1
015 266490-9  |Teu 2X6 3
016 620548-2 | gumn 1
017 652069-6 | Tty M3X6 3
018 424517-3  |CUSHION 1
019 456967-4 REUS S MW 1
021-1 [183L79-9  |HOUSING SET 1
C10 [263005-3 |Mg&IiFied 6 2
C20 |[252126-6 |HEX. LOCK NUT M4-7 2
D10 INC. 1
022 266429-2  |7eu 3X16 2
A0T 251314-2  |Teu M4Xx12 1
A02 346317-0 |€nA 1
A03 784637-8  |+- BIT 2-45 1
A04B  [158597-4  |{uHUI 1
C10 [417724-5 |®§: 2
A0O5B  |450128-8 |A[HUY 1
A06B  |##*DC18RC |DC18RC FAST CHARGER 1
D10 COMPO-PARTS
A07-1B |197600-6 s s BL1830B 2 *
A07-2B |197600-6 Ut BL1830B o) 2

Please order the parts with part number. Print Date 1/9/2022







